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Question Label : Comprehension



LAPLOSHKA was one of the meanest men I have ever met. and quite one of the most entertaining. He said
horrid things about other people in such a charming way that one forgave him for the equally horrid things he
said about oneself behind one's back. hating anything in the way of ill-natured gossip ourselves, we are always
grateful to those who do it for us and do it well . And Laploshka did it really well.

Naturally Laploshka had a large circle of acquaintances. and as he exercised some care in their selection
it followed that an appreciable proportion were men whose bank balances enabled them to acquiesce
indulgently in his rather one-sided views on hospitality, Thus , although possessed of only moderate means. he
was able to live comfortably within his income. and still more comfortably within those of various tolerantly
disposed associates.

But towards the poor or to those of the same limited resources as himself his attitude was one of watchtul
anxiety: he seemed to be haunted by a besetting fear lest some fraction of a shilling or franc, or whatever the
prevailing coinage might be, should be diverted from his pocket or service into that of a hard-up companion.

A two-franc cigar would be cheerfully offered to a wealthy patron .on the principle of doing evil that good
may come .but I have known him indulge in agonies of perjury rather than admit the incriminating possession
of a copper coin when change was needed to tip a waiter. The coin would have been duly returned at the
earliest opportunity- he would have taken means to ensure against forgetfulness on the part of the borrower -
but accidents might happen. and even the temporary estrangement from his penny or sou was a calamity to be
avoided .

The knowledge of this amiable weakness offered a perpetual temptation to play upon Laploshka's fears of
mvoluntary generosity. To offer him a lift in a cab and pretend not to have enough money to pay the fare. to
fluster him with a request for a sixpence when his hand was full of silver just received in change .these were a
tew of the petty torments that ingenuity prompted as occasion afforded. To do justice to Laploshka's
resourcefulness it must be admitted that he always emerged somehow or other from the most embarrassing
dilemma without in any way compromising his reputation for sayving "No". But the gods send opportunities at
gome time to most men .and mine came one evening when Laploshka and I were supping together in a cheap
boulevard restaurant. (Except when he was the bidden guest of some one with an irreproachable income.
Laploshka was wont to curb his appetite for high living :on such fortunate occasions he let it go on an easy
snaffle.) At the conclusion of the meal a somewhat urgent messsage called me away and without heeding my
companion's agitated protest, I called back cruelly, "Pay my share: I'll settle with you tomorrow.” Early on the
morrow Laploshka hunted me down by instinct as I walked along a side street that I hardly ever frequented .
He had the air of a man who had not slept.

"You owe me two francs from last night," was his breathless greeting.

Sub questions

Question Number : 1 Question Id : 6863407280 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The acquaintances of Laploshka accepted his one-sided views on hospitality because :

1. They had great admiration for Laploshka, the charm

[ §])

. They had ample bank-balance to indulge an entertainer like Laploshka

L]

. They had a great sense of sympathy for Laploshka who was not so nice

s

. They wanted to flaunt their richness in front of Laploshka



Options :

68634028801. 1
68634028802. 2
68634028803. 3
68634028804. 4

Question Number : 2 Question Id : 6863407281 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The knowledge of this amicable weakness offered a perpetual temptation to play upon Laploshka's fears of
involuntary generosity :

The underlined phrase refers to:
1. Laploshka's inclination to form friendships with affluent men.
2. Laploshka's habit of lying when the borrower asked for money.
3. Laploshka's inability to part with his money and his obsession to secure it.
4. Laploshka's principle of doing evil that good may result .

Options :

68634028805. 1
686340288006. 2
68634028807. 3
68634028808. 4

Question Number : 3 Question Id : 6863407282 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following can be inferred from the excerpt.

A. The author wanted to inflict petty torments on Laploshka for fun.

B. Laploshka chose to befriend the affluent and steered clear of the poor.

C. Laploshka curbed his appetite when dining with rich friends.

D. Laploshka was haunted by the fear of losing his two franks of the author.

E. The anthor was a cruel man who mtended to torture Laploshka.

1.Band C

| B

.Dand E
3.ACE only
4. AB and D only

Options :
68634028809. 1



68634028810. 2
68634028811. 3
68634028812. 4

Question Number : 4 Question Id : 6863407283 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match the expressions in list I with their meanmg/extension in list I

Match List I with List II

LIST1I LISTIT
Ajﬁ?dbﬂmmm% 1 |pursued me till he caught me
Gods send ] S .
B kesoamentsmni | 15 to trap Laplosh.ka mto mvoluntary
penerosity
men
& Ysied wiedswg e esh:angemem from his penny to the
advantage of someone poor
the author's chance to sup with
D. |perpetual temptation IV. |Laploshka at a boulevard
restaurant.

Choose the correct answer from the options given below:

1. A-III : B-1 :C-I1: D-IV
2AJJI:B-IV:C-I:D-II
JAJL:B-III: C-IV: D-I
4 A-1:B-II:C-IIL: D-IV

Options :

68634028813. 1

68634028814. 2

68634028815. 3
68634028816. 4

Question Number : 5 Question Id : 6863407284 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The author's tone in the passage 13 :

1. humorous

2. serious
3. pedautic
4. harsh

Options :
68634028817. 1



68634028818. 2
68634028819. 3
68634028820. 4

Question Id : 6863407279 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

LAPLOSHEKA was one of the meanest men [ have ever met. and quite one of the most entertaining. He said
horrid things about other people in such a charming way that one forgave him for the equally horrid things he
said about oneself behind one's back. hating anything in the way of ill-natured gossip ourselves, we are always
grateful to those who do it for us and do it well . And Laploshka did it really well.

Naturally Laploshka had a large circle of acquaintances. and as he exercised some care in their selection
it followed that an appreciable proportion were men whose bank balances enabled them to acquiesce
indulgently in his rather one-sided views on hospitality. Thus , although possessed of only moderate means. he
was able to live comfortably within his income, and still more comfortably within those of various tolerantly
disposed associates.

But towards the poor or to those of the same limited resources as himself his attitude was one of watchful
anxiety: he seemed to be haunted by a besetting fear lest some fraction of a shilling or frane, or whatever the
prevailing coinage might be, should be diverted from his pocket or service into that of a hard-up companion.

A two-franc cigar would be cheerfully offered to a wealthy patron .on the principle of doing evil that good
may come .but I have known him indulge in agonies of perjury rather than admit the ineriminating possession
of a copper coin when change was needed to tip a waiter. The coin would have been duly returned at the
earliest opportunity- he would have taken means to ensure against forgetfulness on the part of the borrower -
but accidents might happen. and even the temporary estrangement from his penny or sou was a calamity to be
avoided .

The knowledge of this amiable weakness offered a perpetual temptation to play upon Laploshka's fears of
involuntary generosity. To offer him a lift in a cab and pretend not to have enough money to pay the fare. to
fluster him with a request for a sixpence when his hand was full of silver just recerved in change .these were a
tew of the petty torments that ingenuity prompted as occasion afforded. To do justice to Laploshka's
resourcefulness it must be admitted that he always emerged somehow or other from the most embarrassing
dilemma without in any way compromising his reputation for saying "No". But the gods send opportunities at
gome time to most men .and mine came one evening when Laploshka and I were supping together in a cheap
boulevard restaurant. (Except when he was the bidden guest of some one with an nrreproachable income.
Laploshka was wont to curb his appetite for high living :on such fortunate occasions he let it go on an easy
snaffle.) At the conclusion of the meal a somewhat urgent messsage called me away and without heeding my
companion's agitated protest, I called back cruelly, "Pay my share: I'll settle with you tomorrow.” Early on the
morrow Laploshka hunted me down by instinct as I walked along a side street that I hardly ever frequented .
He had the air of a man who had not slept.

"You owe me two francs from last night," was his breathless greeting.

Sub questions

Question Number : 1 Question Id : 6863407280 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The acquaintances of Laploshka accepted his one-sided views on hospitality because :

1. They had great admiration for Laploshka, the charm

[ ]

. They had ample bank-balance to indulge an entertainer like Laploshka

[ 5]

. They had a great sense of sympathy for Laploshka who was not so nice
4. They wanted to flaunt their richness in front of Laploshka

Options :

68634028801. 1
68634028802. 2
68634028803. 3
68634028804. 4

Question Number : 2 Question Id : 6863407281 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The knowledge of thiz amicable weakness offered a perpetual temptation to play upon Laploshka's fears of
involuntary generosity :

The underlined phrase refers to:

1. Laploshka's inclination to form friendships with affluent men.

[ ]

. Laploshka's habit of lying when the borrower asked for money.
3. Laploshka's inability to part with his money and his obsession to secure it.
4. Laploshka's principle of doing evil that good may result .

Options :

68634028805. 1
68634028806. 2
68634028807 3
68634028808. 4

Question Number : 3 Question Id : 6863407282 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following can be mferred from the excerpt.
A. The author wanted to inflict petty torments on Laploshka for fun.
B. Laploshka chose to befriend the affluent and steered clear of the poor.
C. Laploshka curbed his appetite when dining with rich friends.
D. Laploshka was haunted by the fear of losing his two franks of the author.
E. The author was a cruel man who intended to torture Laploshka.
1.Band C
2.DandE
3.A.CE only

4. AB and D only

Options :

68634028809. 1
68634028810. 2
68634028811. 3
68634028812. 4

Question Number : 4 Question Id : 6863407283 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match the expressions in list [ with their meaning/extension in list IT

Match List T with List IT

LIST1 LIST IT
A ?::lmed By s 1. |pursued me till he caught me
Gods send ] S .
B. |upportanitientomost | 10 to trap La}_:uloshka nto involuntary
Ceferosity
men
&t e disw i estrangement from his penny to the
: " |ladvantage of someone poor
the author's chance to sup with
D. |perpetual temptation IV |[Laploshka at a boulevard
restaurant.

Choose the correct answer from the options given below:

1. A-IIL : B-1 :C-11 : D-IV

| B

VAV B-IV : C-1: D-II

JAII:B-IIT: C-IV : D-1

4 A-1:B-II: C-IIT: D-IV



Options :

68634028813. 1
68634028814. 2
68634028815. 3
68634028816. 4

Question Number : 5 Question Id : 6863407284 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The author's tone in the passage 13 :

1. humorous

2. serious

3. pedautic
4. harsh

Options :

68634028817. 1
68634028818. 2
68634028819. 3
68634028820. 4

Sub-Section Number : 2
Sub-Section Id : 686340224
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 6863407285 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |The bride and groom walked slowly down the | L fourse
B. [She can't abide language and stupidity. II. foarse
C. |He was pamed to see tears down her cheeks. 111 |isle
D. [l wish 1o vizsit the remote of slove. IV. jaisle

Choose the correct answer from the options given below:

LAL:B-II:C-[:D-IV

{ B

CA-TILB-1: C-II: D- IV
3. A-IV: B-II: C-1 : D-III
4. A-IV; B-I: C-II: D-III

Options :
68634028821. 1



68634028822. 2
68634028823. 3
68634028824. 4

Question Number : 6 Question Id : 6863407285 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |The bride and groom walked slowly down the | L fourse
B. [She can't abide language and stupidity. II. foarse
C. |He was pamed to see tears down her cheeks. 111 |isle
D. [l wish 1o vizsit the remote of slove. IV. jaisle

Choose the correct answer from the options given below:

LAL:B-II:C-[:D-IV

{ B

CA-TIL B-1; C-I1: D- TV
3. ATV, B-II: C-1 ; D-III
4. A-TV: B-I: C-II: D-III

Options :

68634028821. 1

68634028822. 2

68634028823. 3
68634028824. 4

Question Number : 7 Question Id : 6863407286 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Choose the correct option to change the following sentence into passive voice:-

It is believed that the thieves got in through the kitchen window:.

1. It 18 believed that the thieves were got in through the kitchen window.

b2

. The thieves are believed to have got in through the kitchen window.
3. The thieves were believed to have got i through the kitchen window.
4. It was believed that the thieves had got in through the kitchen window.

Options :

68634028825. 1
68634028826. 2
68634028827. 3
68634028828. 4



Question Number : 7 Question Id : 6863407286 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Choose the correct option to change the following sentence into passive voice:-

It is believed that the thieves got in through the kitchen window:.

1. It 1 behieved that the thieves were got in through the kitchen window.

b2

. The thieves are believed to have got in through the kitchen window.
3. The thieves were believed to have got in through the kitchen window.
4. It was believed that the thieves had got in through the kitchen window,

Options :

68634028825. 1
68634028826. 2
68634028827. 3
68634028828. 4

Question Number : 8 Question Id : 6863407287 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A MAVERICK in the publishing world . she blazes her own trail travelling around the world for her book
reading events.

Which of the following words is closest in meaning to the word in capital letters:

1. AMATEUR

| B

. NON-CONFORMIST
3. CAVALIER
4. PEDANTIC

Options :

68634028829. 1
68634028830. 2
68634028831. 3
68634028832. 4

Question Number : 8 Question Id : 6863407287 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A MAVERICK in the publishing world . she blazes her own trail travelling around the world for her book
reading events.

Which of the following words is closest in meaning to the word in capital letters:

1. AMATEUR
2. NON-CONFORMIST
3. CAVALIER
4. PEDANTIC

Options :

68634028829. 1

68634028830. 2

68634028831. 3
68634028832. 4

Question Number : 9 Question Id : 6863407288 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
A container for holding alcoholic drinks, especially wine :-
1. Deja vu
2. Dragent

3. Decanter

i

. Drudgery

Options :

68634028833. 1
68634028834. 2
68634028835. 3
68634028836. 4

Question Number : 9 Question Id : 6863407288 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A container for holding alcoholie drinks, especially wine :-

1. Deja vu

12

. Dragent

3. Decanter

i

. Drudgery



Options :

68634028833. 1
68634028834. 2
68634028835. 3
68634028836. 4

Question Number : 10 Question Id : 6863407289 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

choose the correctly spelt word from the options given below :-

1. CARICATURE

| )

. CARECACHUR
3. CARRICATURE

4, CARIKATURE

Options :

68634028837. 1
68634028838. 2
68634028839. 3
68634028840. 4

Question Number : 10 Question Id : 6863407289 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

choose the correctly spelt word from the options given below :-

1. CARICATURE

|

. CARECACHUR
3. CARRICATURE

4. CARIKATURE

Options :

68634028837. 1
68634028838. 2
68634028839. 3
68634028840. 4

Question Number : 11 Question Id : 6863407290 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What is the value of X in the given proportion
14:10=X:15 ?

1. 20

-2

21
3.19

4. 18

Options :

68634028841. 1
68634028842. 2
68634028843. 3
68634028844. 4

Question Number : 11 Question Id : 6863407290 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What 1s the value of X in the given proportion

14:10=X:15 7

1. 20

2

.21
3.19

4. 18

Options :

68634028841. 1
68634028842. 2
68634028843. 3
68634028844. 4

Question Number : 12 Question Id : 6863407291 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The speeds of A and B are in the ratio 3:4. A takes 20 minutes more than B to reach the destination . In what
time does A reach the distination?

1. 2 hours

s | b2

hours

!J
s | B9

. 2 hours

L]

4, 1-= hours

Options :

68634028845. 1
68634028846. 2
68634028847. 3
68634028848. 4

Question Number : 12 Question Id : 6863407291 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The speeds of A and B are in the ratio 3:4. A takes 20 minutes more than B to reach the destination . In what
time does A reach the distination?

ik

. 2= hours

| o]

. ] — hours

3

. 2 hours

L]

4.1 l hours

Options :

68634028845. 1
68634028846. 2
68634028847. 3
68634028848. 4

Question Number : 13 Question Id : 6863407292 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The difference between simple interest and compound mterest on a certain sum at 5% per annum for 2 vears 1s
Z25. What 1s the sum invested ?

1. 26.000

| )

. 28.400
3.310,000
4.312.000

Options :

68634028849. 1
68634028850. 2
68634028851. 3
68634028852. 4

Question Number : 13 Question Id : 6863407292 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The difference between simple interest and compound interest on a certain sum at 5% per annum for 2 vears 1s
225. What 1s the sum invested ?

1.26.000

| ]

. E8.400
3.210.000
4.312.000

Options :

68634028849. 1
68634028850. 2
68634028851. 3
68634028852. 4

Question Number : 14 Question Id : 6863407293 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A vegetable vendor buys 100kg tomatoes at the rate of Rs18 and spent Rs120 as cartage . He sells 80Kg
tomatoes at Rs25/keg and 16kg tomatoes at Rs20/kg. Remaining tomatoes got rotten and could not be sold.
Find his profit percentage { correct to one decimal place )

1.35

h

i
o

| o]

17.5%
3. 20.8%
4. 21.6%

Options :

68634028853. 1
68634028854. 2
68634028855. 3
68634028856. 4

Question Number : 14 Question Id : 6863407293 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A vegetable vendor buys 100kg tomatoes at the rate of Rs18 and spent Rs120 as cartage . He sells 80Kg
tomatoes at Rs25/kg and 16kg tomatoes at Rs20/kg. Remaining tomatoes got rotten and could not be sold.
Find his profit percentage ( correct to one decimal place )

1.15.7%

2
—
-1
A
]
o

3. 20.8%
4. 21.6%

Options :

68634028853. 1
68634028854. 2
68634028855. 3
68634028856. 4

Question Number : 15 Question Id : 6863407294 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A window 1s in the form of a rectangle surmounted by a semicircle. Perimeter of the window 1s 4.6m and

- — . _— ; . 23
height of the rectangular portion 1s 0.5m . then find the radius of the semicircular portion | Take x = -‘?--J
A

S Sm
del
1. 0.6m
2.0.8m
3. 1.4m
4.0.7m
Options :

68634028857. 1
68634028858. 2
68634028859. 3
68634028860. 4

Question Number : 15 Question Id : 6863407294 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A window is in the form of a rectangle surmounted by a semicircle. Perimeter of the window is 4.6m and

; — : i I 22
height of the rectangular portion 1s 0.5m . then find the radius of the semicircular portion | Take x = -‘?--J
\

del

1. 0.6m

-

. (L.8m
3. 1.4m
4. 0.7m

Options :

68634028857. 1
68634028858. 2



68634028859. 3
68634028860. 4

Question Number : 16 Question Id : 6863407295 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

This question consists of a question and two statements .

How is A related to B ?

L. B 1s the wife of C . B and D are the only children of E. G 1s the only daughter of C. A is the grandaughter of
E.

II. G 18 married to H. B 18 mother-in-law of H. B is the only daughter of E and L . A is the grandchild of E.

1. If the data in statement I alone 1s sufficient to answer the question
2. If the data in statement IT alone is sufficient to answer the question
3. If the data either in statement I alone or in statement II alone is sufficient to answer the question
4. If the data even in both statemnts together are not sufficient to answeer thw question

Options :

68634028861. 1

68634028862. 2

68634028863. 3
68634028864. 4

Question Number : 16 Question Id : 6863407295 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

This question consists of a question and two statements .
How is A related to B ?

L. B 1s the wife of C . B and D are the only children of E. G 1s the only daughter of C. A is the grandaughter of
E.

II. G 18 married to H. B 18 mother-in-law of H. B is the only daughter of E and L . A is the grandchild of E.
1. If the data in statement I alone 1s sufficient to answer the question
2. If the data in statement IT alone is sufficient to answer the question
3. If the data either in statement I alone or in statement II alone is sufficient to answer the question
4. If the data even in both statemnts together are not sufficient to answeer thw question
Options :

68634028861. 1
68634028862. 2



68634028863. 3
68634028864. 4

Question Number : 17 Question Id : 6863407296 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What will be the next term of the given number series:

2581528517

1. 90

-2

9]
3.93

4,94

Options :

68634028865. 1
68634028860. 2
68634028867. 3
68634028868. 4

Question Number : 17 Question Id : 6863407296 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What will be the next term of the given number series:

£

wh

8,1

[ ]

28,517

1. 90

b2

81
3.93

4. 94

Options :

68634028865. 1
68634028866. 2
68634028867 3
68634028868. 4

Question Number : 18 Question Id : 6863407297 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A man is facing towards east and turns through 45° clockwise | again 180° clockwise and then turns through
2707 anticlockwise. In which direction is he facing now?

1. North-west

| B

. North-east

. South-west

L]

4. South-east

Options :

68634028869. 1
68634028870. 2
68634028871. 3
68634028872. 4

Question Number : 18 Question Id : 6863407297 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A man is facing towards east and turns through 45° clockwise . again 180° clockwise and then turns through
2707 anticlockwise. In which direction is he facing now?

1. North-west

|

. North-east

. South-west

L N]

4. South-east

Options :

68634028869. 1
68634028870. 2
68634028871. 3
68634028872. 4

Question Number : 19 Question Id : 6863407298 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find out which of these conclusions defimtely follows from the given statement
Statement: Mr. Satbir is one of the probable candidates short - listed for the post of director of P.C.M Institute
Coclusion: I Mr. Satbir will be selected as director of P.C.M Institute

IT Mr. Satbir will not be selected as director of P.C.M Institute

1. Only conclusion I follows

| B

. Only conclusion II follows

. Either I or II follows

LN ]

4. Neither I not IT follows
Options :
68634028873. 1
68634028874. 2

68634028875. 3
68634028876. 4

Question Number : 19 Question Id : 6863407298 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Find out which of these conclusions definitely follows from the given statement
Statement: Mr. Satbir is one of the probable candidates short - listed for the post of director of P.C.M Institute
Coclusion: I Mr. Satbir will be selected as director of P.C.M Institute

II Mr. Satbir will not be selected as director of P.C.M Institute

1. Only conclusion I follows

| B

. Only conclusion II follows

. Either I or II follows

L]

4. Neither I not IT follows

Options :

68634028873. 1
68634028874. 2
68634028875. 3
68634028876. 4

Question Number : 20 Question Id : 6863407299 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find out which of the answer figure(1).(2).(3) ands (4) complete the figure matrix

PROBLEM FIGURE ANSWEER FIGURES
2 » 4
i = X » oW X 3 X
# * 2 5 Hoox X
X X X
w e * = ® ® » ¥ X X ox X
’ ? M @ @) @
1.1
22
3.3
4.4
Options :

68634028877. 1
68634028878. 2
68634028879. 3
68634028880. 4

Question Number : 20 Question Id : 6863407299 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find out which of the answer figure(1).(2).(3) ands (4) complete the figure matrix

PROBLEM FIGURE ANSWER FIGURES
= * 2
“ x * » ¥ X K ¥ X
¥ X & W ®oxox
H K X
o w ® = x x ® R X ® ¥ X
’ ? M Q) 3) @
1.1
2.2
3.3
4.4
Options :

68634028877. 1
68634028878. 2



68634028879. 3
68634028880. 4

Question Number : 21 Question Id : 6863407300 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The visible yellow face of sun is called

1. Corona

[

. Tonosphere

L 5]

. Stratosphere
4. Photosphere

Options :

68634028881. 1
68634028882. 2
68634028883. 3
68634028884. 4

Question Number : 21 Question Id : 6863407300 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The visible yellow face of sun is called

1. Corona

b

. Tonosphere

L¥ 5]

. Stratosphere
4. Photosphere

Options :

68634028881. 1
68634028882. 2
68634028883. 3
68634028884. 4

Question Number : 22 Question Id : 6863407301 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

NATIONAL PARK STATE
Corbett National Park 1. |Gujarat
(Gir Wational Park II. [Karnataka

o o]w[>

Shivpuri National Park | IIL [Untarakhand
Bandhipur National park] IV. [Madhva pradesh

Choose the correct answer from the options given below:

1. A-IIL B-1. C-II. D-IV

| B

. A-IIL B-I, C-IV, D-II
3. A-III, B-IV, B-1. D-II
4. A-IV, B-11, C-1, D-IV

Options :

68634028885. 1
68634028886. 2
68634028887. 3
68634028888. 4

Question Number : 22 Question Id : 6863407301 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

NATIONAL PARK STATE
Corbett National Park 1. |Gujarat
Grir National Park II. |[Karmataka

Shivpuri National Park | 11T [Urtarakhand
Bandhipur National park] IV. [Madhyva pradesh

o|o[w[>

Choose the correct answer from the options given below:

1. A-ITL B-1, C-II, D-IV

| B

A-IIL B-I, C-IV, D-IT
3. A-IIT, B-IV, B-1. D-IT
4. A-IV, B-11, C-1, D-IV

Options :

68634028885. 1
68634028886. 2
68634028887 3
68634028888. 4

Question Number : 23 Question Id : 6863407302 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Under which article. Parliament has been given powers to amend the constituion 7

1. Asticle 226

1-J

. Article 274
3. Article 368

4. Article 102

Options :

68634028889. 1
68634028890. 2
68634028891. 3
68634028892. 4

Question Number : 23 Question Id : 6863407302 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Under which article. Parliament has been given powers to amend the constituion ?

1. Auticle 22

2

. Article 274
3. Article 368

4. Article 102

Options :

68634028889. 1
68634028890. 2
68634028891. 3
68634028892. 4

Question Number : 24 Question Id : 6863407303 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Statement I:
On decreasing the temperature of the metal . its resistance creases.

Statement II: On increasing the temperature of semiconductors, its resistance decreases .

In the light of the above statements. choose the most appropriate answer from the options given below

1. Both Statement [ and Statement II are correct
2. Both statement I and statement IT are incorrect
3. Statement I is correct but Statement 11 1s incorrect
4. Statement I is incorrect but Statement IT is correct

Options :

68634028893. 1

68634028894. 2

68634028895. 3
68634028896. 4

Question Number : 24 Question Id : 6863407303 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Statement [:

On decreasing the temperature of the metal . its resistance increases.

Statement II: On increasing the temperature of semiconductors. ifs resistance decreases .

In the light of the above statements. choose the most appropriate answer from the options given below

1. Both Statement [ and Statement II are correct
2. Both statement I and statement II are incorrect
3. Statement I i3 correct but Statement II is incorrect
4, Statement I is incorrect but Statement IT is correct

Options :

68634028893. 1

68634028894. 2

68634028895. 3
68634028896. 4

Question Number : 25 Question Id : 6863407304 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Which large Harappan site 1s located in Haryana ?

1. Dholavira

(5]

. Alamgirpur
3. Kalibangan

4. Rakhigarhi

Options :

68634028897. 1
68634028898. 2
68634028899. 3
68634028900. 4

Question Number : 25 Question Id : 6863407304 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which large Harappan site 1s located in Haryana ?

1. Dholavira

2. Alamgirpur

3. Kalibangan

4. Rakhigarhi

Options :

68634028897. 1
68634028898. 2
68634028899. 3
68634028900. 4

Part B: B Ed Languages

Section Id : 686340146
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 686340225

Question Shuffling Allowed : Yes



Is Section Default? : null

Question Number : 26 Question Id : 6863407305 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fafafed fog o o 92t faam Tsa 781§ -
1. 3ffauia - forivma
v - g

3, 1A - 910

| B

4. &P - T
Options :
68634028901. 1
68634028902. 2

68634028903. 3
68634028904. 4

Question Number : 26 Question Id : 6863407305 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frrafafed fog ol & wg! foaie oss 181 6 -
1. 3ffayfa - faRivmg
fama -gma

3, TR - § el

[ ]

4. F - AR

Options :

68634028901. 1
68634028902. 2
68634028903. 3
68634028904. 4

Question Number : 27 Question Id : 6863407306 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fora Yoo 31 o & Ay S ST g T 8. SU Bed & -

1. ATEH 4d

srgot g

3. 9T 4d

4. 901

Options :

68634028905. 1
68634028906. 2
68634028907. 3
68634028908. 4

[ ]

Question Number : 27 Question Id : 6863407306 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FSTa YdehTe &1 fohdT & [y YHg FTIH T 5. U P & -

1, STH 4

3ot g

3. 9T g

4. 901

Options :

68634028905. 1
68634028906. 2
68634028907. 3
68634028908. 4

[ o

Question Number : 28 Question Id : 6863407307 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
"3ffeft 3 3R O SR 59 areg | 3R | E?
. qH=gEIYS 3oy
2. Heedied oy
3. foranfasiyor
4. fawmaiiediys sioag

iy



Options :

68634028909. 1
68634028910. 2
68634028911. 3
68634028912. 4

Question Number : 28 Question Id : 6863407307 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
“3ifeft Mg 3R g §XE 5 areg | 3R | E?
. Y=g EIYS 3oy
2. Hayaly® Hoay
3. opanfagmo
4. fawisiye sioog

Options :

68634028909. 1
68634028910. 2
68634028911. 3
68634028912. 4

—

Question Number : 29 Question Id : 6863407308 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
I Bl Hel Y E -
1. 3¢+ W
2. 30+
3.9+ @iy
4,30 +
Options :
68634028913. 1
68634028914. 2

68634028915. 3
68634028916. 4

Question Number : 29 Question Id : 6863407308 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



"I Bl el WY E -

1.3¢] + ol

2.3+ I
3.3+ @
4. 3 + T

Options :

68634028913. 1
68634028914. 2
68634028915. 3
68634028916. 4

Question Number : 30 Question Id : 6863407309 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"SI SHRIRU B HIfgd PIeH! I U TP UPIC 85 6. 79 I 98 U+ DI Hiigd-ar=wafd ¥HgH
TS - U a9 & fo7u Te! diepiiad AU

A B H Gds 9H

IR ESIERS RIG R

—t

| o]

3. HYSId TR §dod Wl
4. BFER favaE & gid die- urd

Options :

68634028917. 1
68634028918. 2
68634028919. 3
68634028920. 4

Question Number : 30 Question Id : 6863407309 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



SIS SHRIRY ] Wi HPIeH! H U TP UPIE 85 6. 79 I 98 U ] Hiigd-ar=rafe 9
T 8" - 5H 9199 & foiu wel dieplfad v

1. - gPg Gdy 9

G ESIERS RIG R

| o]

3. ST TRI Sadd g
4. EER fevam & 5id 9o U

Options :

68634028917. 1
68634028918. 2
68634028919. 3
68634028920. 4

Question Number : 31 Question Id : 6863407310 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Felade. B F IgRRRA. I NPT T R I RN T IGRF AL T & -
A HEER uare fgad
B. HRdg sRY%
C. TRTHHIE 1
Dogeapeld
E. dfdbHeg el
1= f3U U Aol & O Tad Suge SR &1 95 PIT.
1. HAAC. E. A
2. $BaAA A, B.C
3. BAAA.B.D

4. HFAC.D.E

Options :

68634028921. 1
68634028922. 2
68634028923. 3
68634028924. 4

Question Number : 31 Question Id : 6863407310 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Heodl 6. feal &SGR Bd. P P o U | Bl F SGRF AR T § -
A HEER uare fgad
B. HRdg 5RY%
C. TRTHHIE 1
Dogeapeld
E. dfdbHeg el
1= f3U U Aol & O Tad Suge SR &1 95 PIT.
1. HAAC. E. A
2. $BaAA A, B.C
3. BAAA.B.D

4. HFAC.D.E

Options :

68634028921. 1
68634028922. 2
68634028923. 3
68634028924. 4

Question Number : 32 Question Id : 6863407311 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafeiad 5 9 sl Yia 999 &1 3860 § -
A, U
B. Wiafga
C. GAuHT

D. gy
E. A9+

1= f3U U fde el & 9 Iad Suged SR &1 90 I
1. ®Hdd A, C.E
2. %da B. D, E
3.%dd D, C.B
4, PAUB,A.E

Options :

68634028925. 1
68634028926. 2
68634028927. 3



68634028928. 4

Question Number : 32 Question Id : 6863407311 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frafafad § 8 el ua 9O &7 SR E -
A S
B. Widfga
C. GayHT0T

D. 4y
E. HWH

i< fau 7Tu fae el § 9 a4 Iuga ST &1 997 SIT:
1. P A, C.E

. $aUB.D.E

3. %adD.C.B

4. PAUB.A.E

| ]

Options :

68634028925. 1
68634028926. 2
68634028927. 3
68634028928. 4

Question Number : 33 Question Id : 6863407312 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FafEa T Y g T g -
1. 5T &1 ERd $R I g
BARI ST =1 &1 f4aT18 81F S 38T 3 |
3. T 31U 91d BT WPIHR0 P & [l dAR § |

4. %% g1 a9l 9% URd P 7Td O uiel=ar @ afeal vt @l

| S}

Options :

68634028929. 1
68634028930. 2
68634028931. 3
68634028932. 4



Question Number : 33 Question Id : 6863407312 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[Frafaiea & 9 s are g -
1. 7 7T &1 ERd $R e 5
 THRT ST -1 &7 f3are B T T B
3./ S{U-T 91d o1 TPIHR B3 & iU AR g
4. %% T Nl ap YRT P T T WLl @ afsai ust w1

| S

Options :

68634028929. 1
68634028930. 2
68634028931. 3
68634028932. 4

Question Number : 34 Question Id : 6863407313 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

for aef 7 ot v wofgar 76t &2
3. 9HR, 9Id, T3]
4, Y, 91, ariTe

—

[ ]

Options :

68634028933. 1
68634028934. 2
68634028935. 3
68634028936. 4

Question Number : 34 Question Id : 6863407313 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



for aef 7 ot v wofgar 76t &2
3. 9HR, 9Id, T3]
4, Y, 91, ariTe

—

[ ]

Options :

68634028933. 1
68634028934. 2
68634028935. 3
68634028936. 4

Question Number : 35 Question Id : 6863407314 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FafaRed STeg-ufdadl 1 &H-91 SR Tgad 53187

U PR 4 814 H YB1. Dl W 82
39 FEl, 'AR B 8 38 T IR S

1. gehilad

| B

JUHl
T

4. AT

Options :

68634028937. 1
68634028938. 2
68634028939. 3
68634028940. 4

L)

Question Number : 35 Question Id : 6863407314 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fFrafarad Srou-dfdadl o ®1F-91 SdeR Ugad 53 82

U% DR 3 81U H U1, Tl 3R &?
394 PEl, 'R BT a8 38 L IR E

1. ahlilad
301
Ty

4. T

Options :

68634028937 1
68634028938. 2
68634028939. 3
68634028940. 4

b

L]

Question Number : 36 Question Id : 6863407315 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS YT HElaR &7 31 § -

1. SIR-RIR T T G

2.1kl &0 § Hellg Al

3. fEaSl & I Bt JgR BT
4. 139 3R 216 &1 B g

Options :

68634028941. 1
68634028942. 2
68634028943. 3
68634028944. 4

Question Number : 36 Question Id : 6863407315 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



RS U HETax &1 31 § -
1. SR-2IR I HA ST

2. 7 U  Halg B3l
3. Raagl & 1 ot duRt o=

4, I199 R a0 DI [HaH ymm

Options :

68634028941. 1
68634028942. 2
68634028943. 3
68634028944. 4

Question Number : 37 Question Id : 6863407316 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
- 31 B AU U €. U iy & U I fafd § ol g1 398 BRU & 0 1§,
Srfirepy: Tl 1T SRl faft & fordl =it €1
PRT: Side Wigd 9t URdhg sl & fog daarRl g snfeiie fafi g1
SURIGd DU & 3fTelies H, A= feu Y f[doel & 3 Tl SR &1 9 ST
1. A SR R &I 9 §. SR R. A &1 U5l 1T ¢
ASRREAGUE, 3IRR AT TSl AR 6l &

AT e afpTR 3T E

a2

faa

4. ASNTAR. ABTR IS

Options :

68634028945. 1
68634028946. 2
68634028947. 3
68634028948. 4

Question Number : 37 Question Id : 6863407316 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



- 31 B AU U €. U iy & U I fafd § ol g1 398 BRU & 0 1§,
Srfirepy: Tl 1T SRl faft & fordl =it €1
PRT: Side Wigd 9t URdhg sl & fog daarRl g snfeiie fafi g1
SURIGd DU & 3fTelies H, A= feu Y f[doel & 3 Tl SR &1 9 ST

1. A SR R &I 9 §. SR R. A &1 U5l 1T ¢
ASRREAGUE, 3IRR AT TSl AR 6l &

3 ATE S AfbIR 39 g

a2

4. AEAE APTRIA T
Options :
68634028945. 1
68634028946. 2

68634028947. 3
68634028948. 4

Question Number : 38 Question Id : 6863407317 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl sl e A gl v B -
A gy
B. SOl
C. 3=9d
D. W= tR
E. 3fderii®
i< fau 7Tu fae el § 9 a4 Iuga ST &1 997 SIT:
1. ¥ddB.C.D
2. %BadD.E. A
3. %ddB.C.E

4. PAAE A B

Options :

68634028949. 1
68634028950. 2
68634028951. 3
68634028952. 4



Question Number : 38 Question Id : 6863407317 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g B e TEi TS § -
A Fpw
B. SU[E]
C. 3=qd
D. WIHARR
E. 3Afaerdiis
1= f3u ¢ fde el & 9 Iad S SR ©1 95 I,
1. FGAB.C.D
2. %adD.E. A
3. %gdB.C.E

4. PAAE A B

Options :

68634028949. 1
68634028950. 2
68634028951. 3
68634028952. 4

Question Number : 39 Question Id : 6863407318 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A 99T
B. 3ieq+ uH! wiay
C. |l AgE I
D. OFI T T FHax
E. fa9 gt
Al 4T ¢ famedl H 9 9a9 SUgH SR B 95 HIC;

1.B.B.C.EA

| o]

B, E.D,AB
3A.D.B C.E
4 B.EADC

Options :

68634028953. 1

68634028954. 2
68634028955. 3



68634028956. 4

Question Number : 39 Question Id : 6863407318 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A 9EgT
B. Xfed- Ul wikay
C. HIei 713
D. I 70 9 FHay
E. fa9 gl
i< fau e faw el § 9 e Iugs STl &1 99 SIT:

1.B.B.C.EA

| o]

E,E.DAB
3ADB CE
4. B, AL

Options :

68634028953. 1
68634028954. 2
68634028955. 3
68634028956. 4

Question Number : 40 Question Id : 6863407319 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ABR BT T -
1. Tl § Hag
Wi 9 drferdralied
3.0 W
4. ol F IR fewn ® g

Options :

68634028957. 1
68634028958. 2
68634028959. 3
68634028960. 4

| ]

Question Number : 40 Question Id : 6863407319 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR BT AU § -
1. ¥l 3 dag

i

@i I drferaraiiced
3, @l U9
4. @i 9 3R fqn H Rud

Options :

68634028957 1
68634028958. 2
68634028959. 3
68634028960. 4

[

Question Number : 41 Question Id : 6863407320 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FafaRad d 4 sE gm e -
1. AT - TS
2. HAPR - HTADIRD
3. IR - IepiRuft

4. AHTA - JPITD

Options :

68634028961. 1
68634028962. 2
68634028963. 3
68634028964. 4

Question Number : 41 Question Id : 6863407320 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FafaRad d 4 sE gm e -
1. AT - TS
2. HAPR - HTADIRD
3. IR - IepiRuft

4. AHTA - JPITD

Options :



68634028961. 1
68634028962. 2
68634028963. 3
68634028964. 4

Question Number : 42 Question Id : 6863407321 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=it 1 1 gat 11 ¥ e sifere
T I gl 11
A RTRTOE | L 5w
B. [HrEr sgar R 11 [4=dg gRER
C. [yl g8 ded, g8 U 1L [HiRErg
D. [FeTHTeT 33id 3E IV. [FeiRarg

Frafciad fdmedi § T Ul S & 994 il :

1. A-IV. B-IL. C-1. D-III

b

CA-IIL B-IV., C-1. D-II
3. A-IIL. B-1. C-II. D-IV
4. A-I1. B-III, C-I, D-IV

Options :

68634028965. 1
68634028966. 2
68634028967. 3
68634028968. 4

Question Number : 42 Question Id : 6863407321 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=il 1 1 gE 11 ¥ e sifen

A1 T 1
Y d iR Tora L [Nar
TG S8d1 41X 11 [4dg gReg

YS! g Ted, B4 U 1L [HiRErg
EECIEEEIGE B V. [FeRgE

Frafciad fdmedi § T Ul S & 994 il :

1. A-IV. B-IL C-L. D-III

Ol =

2. A-IILL B-IV. C-1. D-IT
3. A-IIL, B-1, C-II, D-IV
4. A-IL B-111. C-I, D-IV

Options :

68634028965. 1

68634028966. 2

68634028967. 3
68634028968. 4

Question Number : 43 Question Id : 6863407322 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1 31 P2 AU U €. U Sl & U I fafd § ol 331 39% BRU & w0 0,
HIUTHU: 901 39 g0 G 1 H5d ¢, [P GS 5l TP |
PRUT: TR 37 aUll &1 Hed ©. [P =R Waadl 9 Bial & SR Wl &oH| & S=RU H Y81ged 8ld ¢ |
SWRIGT DU & ATaid H, Aid Ay 7T fawedi # 9 98t G @1 9a Do
1. A SR R G 9 8. AR R. A P! U6l Ora &
AJRREA AT, IR R A DI T AT 7ol &

]

ATIE APIR T E

L N]

4 ANTAE. ABTIR IS

Options :

68634028969. 1
68634028970. 2
68634028971. 3
68634028972. 4



Question Number : 43 Question Id : 6863407322 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1 31 P2 AU U €. U Sl & U I fafd § ol 331 39% BRU & w0 0,
HIUTHU: 901 39 g0 G 1 H5d ¢, [P GS 5l TP |
PRUT: TR 37 aUll &1 Hed ©. [P =R Waadl 9 Bial & SR Wl &oH| & S=RU H Y81ged 8ld ¢ |
SWRIGT DU & ATaid H, Aid Ay 7T fawedi # 9 98t G @1 9a Do
1. A SR R G 9 8. AR R. A P! U6l Ora &
AJRREA AT, IR R A DI T AT 7ol &

]

L N]

ATIE APIR T E

AMTI R AfFTRTTE

i

Options :

68634028969. 1
68634028970. 2
68634028971. 3
68634028972. 4

Question Number : 44 Question Id : 6863407323 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=il 1 61 g4t 11 ¥ e sifey
T I T I

A e 1 o wid

B. [Rrarag 1. [gfs =iy

C. [gca 111 [ede Ife

D. [3E®R 1V, [l i

FafaRad fowedl ¥ ¥ 98l 3R &1 994 Sif

1. A-IV. B-1. C-I1. D-III

| ]

cA-L B-TV. C-III. D-II
3. A-IIT, B-I1, C-1, D-IV
4. A-IT. B-TII, C-IV. D-1

Options :

68634028973. 1

68634028974. 2
68634028975. 3



68634028976. 4

Question Number : 44 Question Id : 6863407323 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=il 1 61 g4t 11 ¥ e sifey
T I T I

A e 1 o wid

B. [Rrarag 1. [gfs =iy

C. [gca 111 [ede Ife

D. [3E®R 1V, [l i

FafaRad fowedl O ¥ 8l 3R &1 994 Sif

1. A-IV. B-1. C-I1. D-III

| ]

CA-L B-IV. C-III. D-II
3. A-IIL B-I1, C-1. D-IV
4. A-I1. B-11., C-IV. D-I

Options :

68634028973. 1

68634028974. 2

68634028975. 3
68634028976. 4

Question Number : 45 Question Id : 6863407324 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i a sy e g E:
FYF I: T[a P Tory IR ¥ T 3R aey 1 § i o &1 wefifr 81, 539 oo Feal &
HYF 11: o] D1 Yat Had Uss I &l ¢
SIRIGd PUA P Arelier H, A= f4U T faeedl & 4 98t IR &1 997 SIS
1. PYAI AR I A 9 §
DY SR 11 T S §

PYTI T, AT PYT I 3 ©

| o]

fad

4. DY IS, Wb Y I Ia B

Options :
68634028977. 1



68634028978. 2
68634028979. 3
68634028980. 4

Question Number : 45 Question Id : 6863407324 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
-4 3l By AT g E:
HUTI: Tag & (o IR I 53 SR a&g 12 I et e &1 il o1, g8 el ded 6 |
HYF I1: ol D1 HaY Had Uss J &1 ¢
SWRIT PUA P 3ATelid H, 1 3T T fdeedl & I 98t iR &1 997 DI
1. PYFI AR I EH A §
HY 1 IR 1T T S &

HYT I, AP PYT I I B

| o]

L]

A PYT] A S, AP BUT I T E

Options :

68634028977. 1
68634028978. 2
68634028979. 3
68634028980. 4

Question Number : 46 Question Id : 6863407325 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
i &l pud feu M 8-
FY I: o1 fae R Tee; I 991 &1 i maifed gidl 8. 99 fa9mu @gd 8|

& 11: fa2Ivr & g1 o/ 4 1 aonfa maffeg eidi 8, 99 fodw wed €
SWied @Y & dld |, A U T Gwel | 9§ Ul I @1 994 Sif:

1. PYT1 3R 11 S 9 &
FPUA AR I EA 3T ®

3. PYT IS, AT PUT I ST B

[ ]

4. BYT I IET e, AT FYT I a8



Options :

68634028981. 1
68634028982. 2
68634028983. 3
68634028984. 4

Question Number : 46 Question Id : 6863407325 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
EIERA AR AR
T 1: o faa 2 3 39 31 iy wifed gl 8, 39 fodmu & &1
Y= 11: fa290T & IR ford |3 &1 arfd Taifad gidl 6. 39 favy sgd ¢ |
IWiad By & il H. i fGU g fasbedl § U gl IR &1 90 BT

1. P AR 11 S T B
2 BT AR A 3T S
3. YT 1 T ©. Albd DU T 3T ©

A PYT I Mg AT sy gE e

Options :

68634028981. 1
68634028982. 2
68634028983. 3
68634028984. 4

Question Number : 47 Question Id : 6863407326 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



-9 gl e [RU U E:

HYF I: YUes g gy farst of u3.ufeT @1 d9iie i sar gl

SYA I1: 151 SIORAIG & HHE Y TABIRA] B d9IRS Hed U g3 ¢

JIRIdd BYA & S{Telieh H, A (3T T fodbedi H T Fel 3R &1 90 B
1. PYA 1 AR I aH 9A &

HYA 1 SR I G A

FYTI T e AT ey I Ed R

| )

g

4. PYF I IET . A FTPUTI I B
Options :
68634028985. 1
68634028986. 2

68634028987. 3
68634028988. 4

Question Number : 47 Question Id : 6863407326 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
-9 gl e [RU U E:
HYF I: YUes g gy farst of u3.ufeT @1 d9iie i sar gl
SYA I1: 151 SIORAIG & HHE Y TABIRA] B d9IRS Hed U g3 ¢
JIRIdd BYA & S{Telieh H, A (3T T fodbedi H T Fel 3R &1 90 B
1. PYA 1 AR I aH 9A &
HYA 1 SR I G A

FYTI T e AT ey I Ed R

| )

g

4. PYF I IET . A FTPUTI I B

Options :

68634028985. 1
68634028986. 2
68634028987. 3
68634028988. 4

Question Number : 48 Question Id : 6863407327 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



i meiy & e oH § orafld S
A. 39 & a8 Y & A1eH Y oad Pl ¢
B. Fi®®: 98 &l 3O UAT &

c. FMEYsR oilgd & Bic-sic A gadl e

D. 3R 39% 09 1 gua S uiafea gt &
E oligq & fodi - H

1= f3U U famedl 9 9 998 Suged SR &1 95 ST

1.AB.IXCE

2E, BB, DA
3R A TLR
4. C,B.E.A.D

Options :

68634028989. 1
68634028990. 2
68634028991. 3
68634028992. 4

Question Number : 48 Question Id : 6863407327 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Friferd T &1 ale ®E | el S
A. 39 & a8 Y & A1eH Y oad Pl ¢
B. HieheR 95 ol PV UK § _
c. FReyeR oflg- & 3-8 ka diaa e

D. 3R 39% 09 1 gua S uiafea gt &
E oligq & fodi - H

1= f3U U famedl 9 9 998 Suged SR &1 95 ST

1.AB.ICE

2E, BB, DA
3R A TLR
4. C,B.E.A.D

Options :

68634028989. 1
68634028990. 2
68634028991. 3
68634028992. 4



Question Number : 49 Question Id : 6863407328 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FafiiEad oy= & 98] $9 H Uaid I

A. IR 8 3O 81 81 gepall

B. §Sd @ AUl el &l IPbal

C. 98 BI%TD & 9% &l 9Pl o

D. 39 AR S¥ &1 &6 "ol &l 9l
E. fageit yrer didl o gl §

1= f3u U fael & @ Ted Suge SR &1 95 ST

1.A.B.D.C.E

| ]

EAC.B.D
3 CCA.B.E.D
1. E.D.B.A.C

Options :

68634028993. 1
68634028994. 2
68634028995. 3
68634028996. 4

Question Number : 49 Question Id : 6863407328 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FafiiEad oy= & 98] $9 H Uaid I

A. TR 8 391 g ol gl

B. 44 @ a1ull i BI Tl

C. 98 OIS &1 9% 51 9@l o

D. 394 §HAR S &1 &3 el g1 gddl
E. faesft v It o gt @

1= f3u U fashedl & ¥ Ted Sued SR &1 95 P

1.A,B.D.C.E

| S

.B,A,C,B,D

g

.C,A.B.E.D
4. E.D.B.A.C

Options :



68634028993. 1
68634028994. 2
68634028995. 3
68634028996. 4

Question Number : 50 Question Id : 6863407329 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ho S P R R e sfieyn F o fEa 8 O R S RU S =Y 1.

HTUTYT: UPiD| U Ul Yol A1es Y 3941 7, (S5 gHa-siiad & [ Ud g, U 9RE, U Jud]
R UF Y1d FT A& gl 2

HROT: TS T&f, TP 114, U [q9R Biad o & BRU 6] UHid] H HYUa] & [G%IR gl odl o, Tl
EERGNI
SRIGd PUA P ATelie H, A= 3T T faeedl & 3 98t IR &1 9 SIS
1. A SRR EH A E. AR R. A DI T5! BT ¢
ASRREAT TR SRR AT TEI AR el &

AT e AfPTR 3T E

Agde. AfrTrITE

o]

fad

ahia

Options :

68634028997. 1
68634028998. 2
68634028999. 3
68634029000. 4

Question Number : 50 Question Id : 6863407329 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



-1 31 P QU U €. U sy & U 1 fafad § |l 931 390 BRU & =9 1,

R Y: TPl U 0 quf Aty wo &, Rrew Ha-siad & e us e, U 9ie. U gHeEn
3 U Wra 1 iftrerfad il gl

FROT: U Y&f. U 114, U [GaR Higd 6 & PRUIG] UHi] H SUGR] P [G¥R gidl ofdl &, agal
el gl

SURIFd DU P 3Heie H, = f3u MY faeedl & 3 98t S &l 9 DI

A SRR &I 9@ 8. IR R, A & U5l Ara 3
ASRRIATIUE. SRR AT el AR el &

AT e AfPTR 3ITTE

Agde. AfrTrITE

—t

| B}

fad

ahia

Options :

68634028997. 1
68634028998. 2
68634028999. 3
68634029000. 4

Sub-Section Number : 2
Sub-Section Id : 686340226
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 51 Question Id : 6863407330 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Choose the correct options from the choices below to fill in the blank.

The temperature in the western part of India sometimes reach 45°C in June.

1. May

-2

. Can
3. Might
4, Should

Options :

68634029001. 1
68634029002. 2
68634029003. 3
68634029004. 4

Question Number : 51 Question Id : 6863407330 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Choose the correct options from the choices below to fill in the blank.
The temperature in the western part of India sometimes reach 45°C in June.

1. May

12

. Can
3. Might
4. Should
Options :
68634029001. 1
68634029002. 2

68634029003. 3
68634029004. 4

Question Number : 52 Question Id : 6863407331 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following options can replace the underlined part in the sentence below:

1 slept without disturbance in my room.

1. I had slept

-2

. I have had sleep

L8]

. T had a sleep
4.1 have been slept

Options :

68634029005. 1
686340290006. 2
68634029007. 3
68634029008. 4

Question Number : 52 Question Id : 6863407331 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following options can replace the underlined part in the sentence below:
1 slept without disturbance in my room.

1.1 had slept

(o8]

. I have had sleep
3.1 had a sleep
4. I have been slept

Options :

68634029005. 1
68634029006. 2
68634029007 3
68634029008. 4

Question Number : 53 Question Id : 6863407332 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Choose the correct passive voice sentence for active voice sentence below:

Someone introduced me to Mr. Krishna two years back

1. T was mtroduced to Mr. Krishna by someone last year

| )

. Mr. Krishna was mtroduced to me by someone last year
3. I was being introduced to Mr. Krishna last year
4. I was introduced to Mr. Krishna last year

Options :

68634029009. 1
68634029010. 2
68634029011. 3
68634029012. 4

Question Number : 53 Question Id : 6863407332 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct passive voice sentence for active voice sentence below:
Someone introduced me to Mr. Krishna two years back

1. I was mtroduced to Mr. Krishna by someone last year

b2

. Mr. Krishna was introduced to me by someone last year
3.1 was being introduced to Mr. Krishna last year
4. I was introduced to Mr. Krishna last year

Options :

686340290009. 1
68634029010. 2
68634029011. 3
68634029012. 4

Question Number : 54 Question Id : 6863407333 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Select the correct option to fill in the blank.
teachers need to be more productive.

1. The
2, Zero article
3.A
4. An

Options :

68634029013. 1

68634029014. 2

68634029015. 3
68634029016. 4

Question Number : 54 Question Id : 6863407333 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Select the correct option to fill in the blank.
teachers need to be more productive.
1. The
2. Zero article
3.A
4. An

Options :

68634029013. 1
68634029014. 2
68634029015. 3
68634029016. 4

Question Number : 55 Question Id : 6863407334 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Find the correct replacement of the underlined words below:
The snow which fell overnight has turned into ice.
1. Fell
2. Falling
3. had fell
4. which continued falling

Options :

68634029017. 1
68634029018. 2
68634029019. 3
68634029020. 4

Question Number : 55 Question Id : 6863407334 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find the correct replacement of the underlined words below:
The snow which fell overnight has turned into ice.

1. Fell

| B

. Falling
3. had fell
4. which continued falling

Options :

68634029017. 1
68634029018. 2
68634029019. 3
68634029020. 4

Question Number : 56 Question Id : 6863407335 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Choose the correct option from the underlined word in the sentence below:

Only five students turned up.

1. Adjective

| )

. Adverb
3. Noun
4. Participle

Options :

68634029021. 1
68634029022. 2
68634029023. 3
68634029024. 4

Question Number : 56 Question Id : 6863407335 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct option from the underlined word in the sentence below:
Only five students turned up.

1. Adjective

(o8]

. Adverb
3. Noun
4. Participle

Options :

68634029021. 1
68634029022. 2
68634029023 3
68634029024. 4

Question Number : 57 Question Id : 6863407336 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Select the correct option to replace the underlined word(s) in the sentence below:
Although I enjoyed the holiday. I was glad to be there with you.
1. Though
2. Evenif
3. Much as
4. Despite
Options :
68634029025. 1
68634029026. 2

68634029027. 3
68634029028. 4

Question Number : 57 Question Id : 6863407336 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Select the correct option to replace the underlined word(s) in the sentence below:
Although I enjoyed the holiday. I was glad to be there with you.

1. Though

2. Evenif

3. Much as

4. Despite

Options :

68634029025. 1
68634029026. 2
68634029027. 3
68634029028. 4

Question Number : 58 Question Id : 6863407337 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct proposition from the options below to fill in the blank.
I opened the nut a screwdriver.

1. with

Options :

68634029029. 1
68634029030. 2
68634029031. 3
68634029032. 4

Question Number : 58 Question Id : 6863407337 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct proposition from the options below to fill in the blank.
I opened the nut a screwdriver.

1. with

2

by

3. from

4. to

Options :

68634029029. 1
68634029030. 2
68634029031. 3
68634029032. 4

Question Number : 59 Question Id : 6863407338 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Choose the correct sentence from the options given below:
1. Buying a new house has eaten my all savings up.
2. A new house buying has eaten up my all savings.
3. Buying a new house has eaten up my all savings.
4. Buying a new house has eaten all my savings up.
Options :
68634029033. 1
68634029034. 2

68634029035. 3
68634029036. 4

Question Number : 59 Question Id : 6863407338 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Choose the correct sentence from the options given below:

1. Buying a new house has eaten my all savings up.

[ §])

. A new house buying has eaten up my all savings.
3. Buying a new house has eaten up my all savings.
4. Buying a new house has eaten all my savings up,

Options :



68634029033. 1
68634029034. 2
68634029035. 3
68634029036. 4

Question Number : 60 Question Id : 6863407339 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Select the correct indirect narration for the sentence below:

She said, "I am not feeling well today."

1. She asked that she was not feeling well that day.

b2

. She told that she was not feeling well that day.
3. She said that she was not feeling well that say.
4. She informed that she has not been feeling well that day.

Options :

68634029037. 1
68634029038. 2
68634029039. 3
68634029040. 4

Question Number : 60 Question Id : 6863407339 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Select the correct indirect narration for the sentence below:

She said, "I am not feeling well today.'

1. She asked that she was not feeling well that day.

-2

. She told that she was not fecling well that day.
3. She said that she was not feeling well that say.
4. She mnformed that she has not been feeling well that day.

Options :

68634029037. 1
68634029038. 2
68634029039. 3
68634029040. 4

Question Number : 61 Question Id : 6863407340 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct option to fill in the blank.
You leave this premises without my permission.

1. have not to

-2

. Are notto
3. Won't to

4. Have to

Options :

68634029041. 1
68634029042. 2
68634029043. 3
68634029044. 4

Question Number : 61 Question Id : 6863407340 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Choose the correct option to fill in the blank.
You leave this premises without my permission.
1. have not to
2. Are notto

3. Won't to

4. Have to

Options :

68634029041. 1
68634029042. 2
68634029043. 3
68634029044. 4

Question Number : 62 Question Id : 6863407341 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Smart work is better than hard work.

Reason R: Hard work must be smarter work also.

In the light of the above statement. choose the most appropriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A

| ]

. Both A and R are correct and R 1s NOT the correct explanation of A

. A 1s correct but B is not correct

LN ]

4. A is not correct but R is correct
Options :
68634029045. 1
68634029046. 2

68634029047. 3
68634029048. 4

Question Number : 62 Question Id : 6863407341 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one i1s labelled as Assertion A and the other is labelled as Reason R
Assertion A: Smart work is better than hard worl.
Reason R: Hard work must be smarter work also.

In the light of the above statement. choose the most appropriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A

| B

. Both A and R are correct and R 1s NOT the correct explanation of A

. A 1s correct but R is not correct

L]

4. A is not correct but R is correct

Options :

68634029045. 1
68634029046. 2
68634029047. 3
68634029048. 4

Question Number : 63 Question Id : 6863407342 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one 1s labelled as Assertion A and the other is labelled as Reason R
Assertion A: Rest is best before test.

Reason R: Rest before an exam is necessary for better performance.

In the light of the above statement. choose the most appropriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A

| ]

. Both A and R are correct and R 1s NOT the correct explanation of A

. A 1s correct but B is not correct

LN ]

4. A is not correct but R is correct
Options :
68634029049. 1
68634029050. 2

68634029051. 3
68634029052. 4

Question Number : 63 Question Id : 6863407342 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one is labelled as Assertion A and the other 15 labelled as Reason R
Assertion A: Rest is best before test.
Reason R: Rest before an exam is necessary for better performance.

In the light of the above statement. choose the most appropriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A

| B

. Both A and R are correct and R 1s NOT the correct explanation of A

. A 1s correct but R is not correct

L]

4. A is not correct but R is correct

Options :

68634029049. 1
68634029050. 2
68634029051. 3
68634029052. 4

Question Number : 64 Question Id : 6863407343 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other 15 labelled as Reason R
Assertion A: Limiter adjectives particularise the reference of the noun.
Reason R: Limiter adjectives always tone down the meaning.

In the light of the above statement. choose the most appropriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A

| ]

. Both A and R are correct and R 1s NOT the correct explanation of A

. A 1s correct but B is not correct

LN ]

4. A is not correct but R is correct
Options :
68634029053. 1
68634029054. 2

68634029055. 3
68634029056. 4

Question Number : 64 Question Id : 6863407343 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one is labelled as Assertion A and the other 15 labelled as Reason R
Assertion A: Limiter adjectives particularise the reference of the noun.
Reason R: Limiter adjectives always tone down the meaning.

In the light of the above statement. choose the most appropriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A

| B

. Both A and R are correct and R 1s NOT the correct explanation of A

. A 1s correct but R is not correct

L]

4. A is not correct but R is correct

Options :

68634029053. 1
68634029054. 2
68634029055. 3
68634029056. 4

Question Number : 65 Question Id : 6863407344 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A. Who offered me the opportunity to join his company.
B. Just after I left University

C. I organised an advertising campaign for him

D. I met an old friend

E. Selling a new type of mobile phone

Choose the correct answer from the options grven below:

1.C.D.B.D,A

| )

B D AE
3.B,ACDE
4.B.D.AE.C

Options :

68634029057. 1
68634029058. 2
68634029059. 3
68634029060. 4

Question Number : 65 Question Id : 6863407344 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A, Who offered me the opportunity to join his company.
B. Just after I left Unmiversity

C. I organised an advertising campaign for him

D. I met an old friend

E. Selling a new type of mobile phone

Choose the correct answer from the options given below:

1.C.D.B.D.A

[ )

C.B.D.ALE
3. B.A.C.D.E
4. B.D.AE.C

Options :

68634029057. 1
68634029058. 2
68634029059. 3
68634029060. 4

Question Number : 66 Question Id : 6863407345 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A. The villagers wanted what conditions were
B. And advised to take

C. To save themselves from starvation

D. Like at higher altitudes

E. Enough food for a week

Choose the correct answer from the options grven below:

LA CHEE

[ )

A D,B.E.C
3.D.C.E.A.B
4.D.B. A, C.E

Options :

68634029061. 1
68634029062. 2
68634029063. 3
68634029064. 4

Question Number : 66 Question Id : 6863407345 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A, The villagers wanted what conditions were
B. And advised to take

C. To save themselves from starvation

D. Like at higher altitudes

E. Enough food for a week

Choose the correct answer from the options given below:

LA CD CE

| )

A D.B.E.C
3. D.C.E.A.B
4. B:B.A C.E

Options :

68634029061. 1
68634029062. 2
68634029063. 3
68634029064. 4

Question Number : 67 Question Id : 6863407346 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: All adverbs in English can be used as adjectives also.

Statement IT: The same word when used as adverb and adjective bears the same meaning.

In the light of the above statement. choose the most appropriate answer from the options given below:

1. Both Statement [ and Statement IT are correct

[ ]

. Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement 11 is incorrect
4, Statement I is incorrect but Statement IT is correct
Options :
68634029065. 1
68634029066. 2

68634029067. 3
68634029068. 4

Question Number : 67 Question Id : 6863407346 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: All adverbs in English can be used as adjectives also.

Statement II: The same word when used as adverb and adjective bears the same meaning.

In the light of the above statement. choose the most appropriate answer from the options given below:

1. Both Statement [ and Statement II are correct

| ]

. Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement II is incorrect

4. Statement I is incorrect but Statement IT is correct

Options :

68634029065. 1
68634029066. 2
68634029067. 3
68634029068. 4

Question Number : 68 Question Id : 6863407347 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: A sentence having question mark (?) at the end is an interrogative sentence.

Statement IT: A sentence can't be a question without having a question mark (?) at the end.

In the light of the above statement. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are true

[ ]

. Both Statement I and Statement IT are false
3. Statement I is true but Statement 11 i false
4. Statement I is falee but Statement I1 is true

Options :

68634029069. 1

68634029070. 2

68634029071. 3
68634029072. 4

Question Number : 68 Question Id : 6863407347 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: A sentence having question mark (?) at the end 1s an interrogative sentence.

Statement IT: A sentence can't be a question without having a question mark (?) at the end.

In the light of the above statement. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are true

| ]

. Both Statement I and Statement IT are false
3. Statement I is true but Statement II is false

4. Statement I is falee but Statement I1 is true

Options :

68634029069. 1
68634029070. 2
68634029071. 3
68634029072. 4

Question Number : 69 Question Id : 6863407348 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: All articles are determiners as these determine the position of a noun.

Statement IT: All determiners are "articles'

In the light of the above statement. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are true

[ ]

. Both Statement I and Statement IT are false
3. Statement I is true but Statement 11 i false
4. Statement I is falee but Statement I1 is true

Options :

68634029073. 1

68634029074. 2

68634029075. 3
68634029076. 4

Question Number : 69 Question Id : 6863407348 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: All articles are determiners as these determine the position of a noun.

Statement II: All determiners are "articles'

In the light of the above statement. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are true

| ]

. Both Statement I and Statement IT are false
3. Statement I is true but Statement II is false

4. Statement I is falee but Statement I1 is true

Options :

68634029073. 1
68634029074. 2
68634029075. 3
68634029076. 4

Question Number : 70 Question Id : 6863407349 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The best thing would be to give up - Non-finite clause
With the tree now tall. we get more shade - finite clause

We ran fast so that we could save us - complex clause

If you work hard. vou will pass - Subordinate clause
Shall we take a car or go by bus - Complex sentence
Choose the correct answer from the options given below:

1. Aand C only

2.Band D only

3.D and E only

4. D only

Options :

68634029077. 1
68634029078. 2
68634029079. 3
68634029080. 4

Question Number : 70 Question Id : 6863407349 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The best thing would be to give up - Non-finite clause

With the tree now tall, we get more shade - finite clause

We ran fast so that we could save us - complex clause

If vou work hard. you will pass - Subordinate clanse

Shall we take a car or go by bus - Complex sentence
Choose the correct answer from the options grven below:
1. A and C only
2. B and D only
3.D and E only
4. D only
Options :
68634029077. 1

68634029078. 2
68634029079. 3



68634029080. 4

Question Number : 71 Question Id : 6863407350 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A Comnote - To suggest

B. Godawtful - Extremely bad

C. Arduous - With a little energy
D. Pagoda - A tall building

E. Sassy - Polite

Choose the most appropriate answer from the options given below:

1. B and C only

| )

. E only
3. Aand B only

4. D and E only

Options :

68634029081. 1
68634029082. 2
68634029083. 3
68634029084. 4

Question Number : 71 Question Id : 6863407350 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A. Comnote - To suggest

B. Godawful - Extremely bad

C. Arduous - With a little energy
D. Pagoda - A tall building

E. Sassy - Polite

Choose the most appropriate answer from the options given below:

1. B and C only

| ]

. E only
3. Aand B only

4. D and E only

Options :

68634029081. 1
68634029082. 2
68634029083. 3
68634029084. 4



Question Number : 72 Question Id : 6863407351 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A. The road may be blocked - Possibility

B. He shall get his money - Possibility

C. The game will be finished by now - Possibility
D. He can speak Sanskrit but can't write - Possibility
E. Anyone can make mistakes - Possibility

Choose the most appropriate answer from the options given below:

1. Aand C only

[

.C and D only
3.B and E only

4. A and E only

Options :

68634029085. 1
68634029086. 2
68634029087. 3
68634029088. 4

Question Number : 72 Question Id : 6863407351 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A. The road may be blocked - Possibility

B. He shall get his money - Possibility

C. The game will be finished by now - Possibility
D. He can speak Sanskrit but can't write - Possibility
E. Anyone can make mistakes - Possibility

Choose the most appropriate answer from the options given below:

1. A and C only

[ )

. C and D only
3.B and E only

4. Aand E only

Options :

68634029085. 1
68634029086. 2
68634029087. 3
68634029088. 4

Question Number : 73 Question Id : 6863407352 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTI1
A |Break away 1. |To come to an end
B. |Break down II. |To escape suddenly
C. [Break up II1. |To stop working suddenly
D [Break out IV |To start suddenty

Choose the correct answer from the options given below:

1. A-IIL. B-IV. C-II, D-1

|

A-IL B-I. C-IV. D-IIL
3. A-IL B-1II. C-1, D-IV
4. A-IIL B-I1. C-IV. D-I

Options :

68634029089. 1
68634029090. 2
68634029091. 3
68634029092. 4

Question Number : 73 Question Id : 6863407352 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LIST I1
A |Break away I. |To come to an end
B. |Break down II. |To escape suddenly
C. |Break up IT1 |To stop working suddenly
D. [Break out IV |To start suddenly

Choose the correct answer from the options given below:

1. A-IIL. B-IV. C-I1. D-I

{ B

. A-IL B-1. C-IV. D-III
3. A-IL B-1IL. C-1. D-IV
4. A-IIL. B-IL. C-IV. D-I

Options :

68634029089. 1
68634029090. 2
68634029091. 3
68634029092. 4



Question Number : 74 Question Id : 6863407353 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I LIST II
A Key I [Flippant
B. [Facetious 1I. [Soothe
C. |[Fabled IIT. |Vital
D. [Lull IV. [Legendary

Choose the correct answer from the options given below:

1. A-IILL B-1. C-IV. D-II

| B

AL B-IIL C-IV. D-1
3. A-IV. B-III. C-1. D-II
4. A-IV. B-1. C-11. D-III

Options :

68634029093. 1
68634029094. 2
68634029095. 3
68634029096. 4

Question Number : 74 Question Id : 6863407353 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A [Kev 1. [Flippant
B. [Facetious II. [Soothe
C. |[Fabled T [Vital
D. [Lull IV, [Legendary

Choose the correct answer from the options given below:

1. A-IIL. B-1. C-IV. D-II

{ B

. A-TIL B-IIL, C-IV. D-1
3. A-IV. B-III. C-1. D-II
4. A-IV, B-1. C-1I, D-III

Options :

68634029093. 1
68634029094. 2
68634029095. 3
68634029096. 4



Question Number : 75 Question Id : 6863407354 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |Lunacy 1. [Sane
B. |Active II. [Thankless
C. |Gratitude 11 [Deaden
D. |Opacity IV |Transparency

Choose the correct answer from the options given below:
1. A-IL. B-1. C-III, D-IV
2. A-IL, B-IIL, C-I, D-IV
3. A-l. B-IIL. C-1. D-IV
4. A-I. B-IL. C-IIL, D-IV
Options :
68634029097 1
68634029098. 2

68634029099. 3
68634029100. 4

Question Number : 75 Question Id : 6863407354 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |Lunacy 1. [Sane
B. |Active II. [Thankless
C. |Gratitude 11 [Deaden
D. |Opacity IV |Transparency

Choose the correct answer from the options given below:
1. A-IL. B-1. C-III, D-IV
2. A-IL, B-IIL, C-I, D-IV
3. A-l. B-IIL. C-1. D-IV
4. A-I. B-IL. C-IIL, D-IV
Options :
68634029097. 1

68634029098. 2
68634029099. 3



68634029100. 4

Sub-Section Number : 3
Sub-Section Id : 686340227
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 76 Question Id : 6863407355 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YEHIICY: ST U= U2
1. Hagd
2, RS
3. PIEHEYH

4, TR

Options :

68634029101. 1
68634029102. 2
68634029103. 3
68634029104. 4

Question Number : 76 Question Id : 6863407355 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

QHAHIYSE: B Y Ud?
L. Hegd
2. AR
3. PIrEgy

4, TR

Options :

68634029101. 1
68634029102. 2
68634029103. 3
68634029104. 4

Question Number : 77 Question Id : 6863407356 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



@< QI TTUTH] Hg ] D1

1.8

L¥N]
O

4.5

Options :

68634029105. 1
68634029106. 2
68634029107. 3
68634029108. 4

Question Number : 77 Question Id : 6863407356 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

@< QI TTUTH] Hg ] D1

1.8

L¥N]
O

4.5
Options :
68634029105. 1
68634029106. 2

68634029107. 3
68634029108. 4

Question Number : 78 Question Id : 6863407357 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
R =it e gRier Si o P femp
1. GR:
2. it
3,49
4. ¥

Options :
68634029109. 1



68634029110. 2
68634029111. 3
68634029112. 4

Question Number : 78 Question Id : 6863407357 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
dR: 2T o gRia gfd o rug favpe
1. 9R:
2. ifE
3,99

4. g3fd

Options :

68634029109. 1
68634029110. 2
68634029111. 3
68634029112. 4

Question Number : 79 Question Id : 6863407358 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
RO §id U &: WHTE:?

1, fedmaraage:

Options :

68634029113. 1
68634029114.2
68634029115. 3
68634029116. 4

Question Number : 79 Question Id : 6863407358 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Options :

68634029113. 1
68634029114. 2
68634029115. 3
68634029116. 4

Question Number : 80 Question Id : 6863407359 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TX] U TS aeR AT NG dar fd S0

1, HAY:

[ ]

HOd
3. 3OOy
4. U

Options :

68634029117. 1
68634029118. 2
68634029119. 3
68634029120. 4

Question Number : 80 Question Id : 6863407359 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TY U1 ASaPR HHYRYSad [ S

1, HAYR:

[ ]

HUZUA



Options :

68634029117. 1
68634029118. 2
68634029119. 3
68634029120. 4

Question Number : 81 Question Id : 6863407360 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

. " Higd = | TR FEHdfdsmedT gzad|

L.

Options :

68634029121. 1
68634029122. 2
68634029123. 3
68634029124. 4

Question Number : 81 Question Id : 6863407360 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

. " Hiad I | YHRH FHfEddoe- QRud|

1. =g
2. fRrere

3. fRre:
4. fRrgg:

Options :

68634029121. 1
68634029122. 2
68634029123. 3
68634029124. 4

Question Number : 82 Question Id : 6863407361 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YT Bl 73 T8¢ gid a1l Did S{eagugri-?

1.01

| )

.02
3.03
4. 04

Options :

68634029125. 1
68634029126. 2
68634029127. 3
68634029128. 4

Question Number : 82 Question Id : 6863407361 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YT Bl 73 T8¢ gid a1l Did S{eagugri-?

1.01

| )

.02
3.03
4. 04
Options :
68634029125. 1
68634029126. 2

68634029127. 3
68634029128. 4

Question Number : 83 Question Id : 6863407362 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SHTEAT 3 Bl fgvadl =um?
1. fgdafaye
2. gpHifaveR
3. wifaya
4, FUiigeRT

Options :
68634029129. 1



68634029130. 2
68634029131. 3
68634029132. 4

Question Number : 83 Question Id : 6863407362 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
'SHTEAT S el fgve =
1. fcafae e
2. gpHifavyeR
3. gyifavaa!
4. Fiffayad

Options :

68634029129. 1
68634029130. 2
68634029131. 3
68634029132. 4

Question Number : 84 Question Id : 6863407363 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T e fedigl-ggaad fb =ug?

1. 7TTg:

n

3.9l

47T

Options :

68634029133. 1
68634029134. 2
68634029135. 3
68634029136. 4

Question Number : 84 Question Id : 6863407363 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T Ve fgdiai-ggd=- fb =u?

1. 7TTg:

n

3.9l

47T

Options :

68634029133. 1
68634029134. 2
68634029135. 3
68634029136. 4

Question Number : 85 Question Id : 6863407364 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
"G+ ST TR T [ U2
1. SdPISTY

2. didPTUH

5

3. AP U
4. TTAHLEH

Options :

68634029137. 1
68634029138. 2
68634029139. 3
68634029140. 4

Question Number : 85 Question Id : 6863407364 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
"HT+ T IR i O
1. STAPISTY

RGN

3

[ B

3. FIAD 3



Options :

68634029137. 1
68634029138. 2
68634029139. 3
68634029140. 4

Question Number : 86 Question Id : 6863407365 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST ofd IS8 FAfd=se $od -

1. T+

2. P+ SHAH

3. P+ T
4. P+ Y

Options :

68634029141. 1
68634029142. 2
68634029143. 3
68634029144. 4

Question Number : 86 Question Id : 6863407365 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"SRG 3fd e HiAfawss oo -

1.9 + QM
2. P + Y
3. P+ T
4, TR + SHH

Options :

68634029141. 1

68634029142. 2

68634029143. 3
68634029144. 4

Question Number : 87 Question Id : 6863407366 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e HYFTEIH &7 | Y SifeyAH (A), fgdid § T8 $RUH (R).
HfUSY A: YU W fgdia-fgaa am gid 9 Hafd|
HROM R: '37Ae Teasd 7qf Upaa 1 3fd =9 vafd|
SIS YT Talh Hef: Haaidehed d: T EHT (o -

(A) (R) SHT TIEL: (R). (A) ST TV AR 31T |

—

| ]

(A). (R) H HI¢: (R). (A) T0F GHA] oARe] K|
3. (A) T1Y. U (R) 1Y TR
4. (A) 3TY, U] (R) 1Y

Options :

68634029145. 1

68634029146. 2

68634029147. 3
68634029148. 4

Question Number : 87 Question Id : 6863407366 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3He: HYTETH T | U H HIUBUTH (A), T5did J T8 RUM (R).
STUPY A: TWE WsaH fdan-fgae amy id ¥4 vafd
PR R: '3RA¢ Yeady =7l Upad 1Y 3id &4 Hald|
SUaHUga 3Tl e Uaaidhed d: ST o -

(A) (R) 3HT HIE: (R). (A) SR HII] oA 3T |

—

| S

(A). (R) GHT HIEL: (R). (A) SUTY YHA] R A |
3. (A) T1Y, U] (R) ¢ AT
4. (A) SFEIY, U (R) T1Y)|

Options :

68634029145. 1
68634029146. 2
68634029147. 3
68634029148. 4

Question Number : 88 Question Id : 6863407367 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e HYFTEIH &7 | Y SifeyAH (A), fgdid § T8 $RUH (R).
HTUBUTH A: TU=: 5fd YUE: FaTeRvl vafd|

BRUM R: "G S FAU PR T HRI Hafd |

SIS YT Talh Hef: Haaidehed d: T EHT (o -

1. (A). (R) ST IIY; (R). (A) FOT T AT |

| ]

(A). (R) H HI¢: (R). (A) T0F GHA] oARe] K|
3. (A) T1Y. U (R) 1Y TR
4. (A) 3TY, U] (R) 1Y

Options :

68634029149. 1

68634029150. 2

68634029151. 3
68634029152. 4

Question Number : 88 Question Id : 6863407367 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3He: HYTETH T | U H HIUBUTH (A), T5did J T8 RUM (R).
HfUSYH A: "IU=: S UL FareRul vafd |
PRI R: "L 5fd YAV PR U DHR] Hafd |
SUaHUga 3Tl e Uaaidhed d: ST o -

1. (A). (R) 344 H1E; (R). (A) SO T AT |

| S

(A). (R) GHT HIEL: (R). (A) SUTY YHA] R A |
3. (A) T1Y, U] (R) ¢ AT

4. (A) SFETY, UR (R) WY

Options :

68634029149. 1
68634029150. 2
68634029151. 3
68634029152. 4

Question Number : 89 Question Id : 6863407368 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e HYFTEIH &7 | Y SifeyAH (A), fgdid § T8 $RUH (R).
HfUBY A: FYLea fgdiaragad ag Hafd

PR R: Ui fgdiar-fga=- udh yafd

SIS YT Talh Hef: Haaidehed d: T EHT (o -

1. (A). (R) ST IIY; (R). (A) FOT T AT |

| ]

(A). (R) H HI¢: (R). (A) T0F GHA] oARe] K|
3. (A) T1Y. U (R) 1Y TR
4. (A) 3TY, U] (R) 1Y

Options :

68634029153. 1

68634029154. 2

68634029155. 3
68634029156. 4

Question Number : 89 Question Id : 6863407368 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3He: HYTETH T | U H HIUBUTH (A), T5did J T8 RUM (R).
HTUHYAT A: FuR=aH fgdiaagasd ay: vafd|
BRI R: Ui fadiar-feae odh safd|
UGB UTGI SATCTb- 3He): Fedidped : TH=-HTR Fd -

1. (A). (R) 344 H1E; (R). (A) SO T AT |

| S

(A). (R) GHT HIEL: (R). (A) SUTY YHA] R A |
3. (A) T1Y, U] (R) ¢ AT
4. (A) SFEIY, U (R) T1Y)|

Options :

68634029153. 1
68634029154. 2
68634029155. 3
68634029156. 4

Question Number : 90 Question Id : 6863407369 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



[

Y HTTHHEE 3&e0N- I -

A. Frifgeey
B. S
C. 3UPH
D. "eR

E. U4#:

31Y: Fedidded a: FHEAHT fod -
1. HAUH A, B, C
2. BIA A, C.D
3.$de¥ B, D, E
4. %gaY C.D.E

Options :

68634029157. 1
68634029158. 2
68634029159. 3
68634029160. 4

Question Number : 90 Question Id : 6863407369 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HETGIHTTHHTEE 3ET8R0NT Hfw -

A Foifge
B. P
C. SHP™H
D. HeR

E. U9
e Faaiam e s FH T fod -
1. HAUH A, B. C
2. HaH A, C.D
3. ®au B.D.E
4. %gaY C.D.E

Options :

68634029157. 1
68634029158. 2
68634029159. 3



68634029160. 4

Question Number : 91 Question Id : 6863407370 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A, T e T
B. 71 g Had
C. SITEIVTY Higeh e

D. faur 71 garia
E. afd fherd agum

3HY: YeTiigh el : YHEHHER K -
1. Hae B. D. E
2. PAIHC, D.E
3. PAAH A, C.E
4. $AUH A, B.C

Options :

68634029161. 1
68634029162. 2
68634029163. 3
68634029164. 4

Question Number : 91 Question Id : 6863407370 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A, T fgeqey: T
B. Hal g ad
C. STRIUTg Higeh dd
D. faur 7 garia
E. afd fhgrd agem
3HY: YeTiigh el : YHEHHER K -
1. $ae B.D. E
2. BIAYC. D, E
3. DA A C.E

4. HAUHA, B, C

Options :

68634029161. 1
68634029162. 2
68634029163. 3
68634029164. 4

Question Number : 92 Question Id : 6863407371 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SSHAUY R -

AY
B. 9
c. 9
D. 4
E.©
HY: Yexdideped d: FHIHT & -
1. PG A. C. D
2. HAUHB.C.D
3. AU A.D.E
4. $aeHB.C.E

Options :

68634029165. 1
68634029166. 2
68634029167. 3



68634029168. 4

Question Number : 92 Question Id : 6863407371 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FHUY GRITUT] -

AY
B. 9
C. 9
D. ¥
E®

HY: Yexdideped d: FHIHT & -
1. PG A. C. D
2. HAUHB.C.D
3. AU A.D.E
4. $aeHB.C.E

Options :

68634029165. 1
68634029166. 2
68634029167. 3
68634029168. 4

Question Number : 93 Question Id : 6863407372 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

GG OO IR ghfd To $%d-

T 1 T
TGN I [RIY oy

& Tes e I EArgider:
AT S L. | HOTGH o3t
STCd: T DI IV [areRise

3¢ TEmiiae el 1 FHEE fd -

1. A-IIL B-IV., C-1. D-II

ofofw]=

| R

. A-ITLL B-1. C-IL. D-IV
3. A-IV. B-III. C-1. D-IT

4. A-L, B-1V, C-III, D-II



Options :

68634029169. 1
68634029170. 2
68634029171. 3
68634029172. 4

Question Number : 93 Question Id : 6863407372 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e IEgEHE IRER g e $d-

T 1 I
EIRIEEIG] I |2 wgi

& S=a i I [EATEaPR:
g SR [T [3faeT oH]
aTcid: F& D10 IV [aerisie

HY: Fedidped 1 T fodd -

1. A-IIL B-IV. C-1. D-II

ofo]w]

| o)

AL B-L C-I1L, D-IV
3. A-TV. B-I11, C-1. D-IT
4. A-1. B-IV, C-II1, D-II

Options :

68634029169. 1
68634029170. 2
68634029171. 3
68634029172. 4

Question Number : 94 Question Id : 6863407373 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



314 DHYTEIH 31K -

SYY 1: A S o T IETeRun S|

ST 11: 'TaF: 5 T T4: FaTexo |

SUYFIH YA A5 3fef: Tediaem edsd: Fgfad fagd -

1. BYH I HYTH 11 9 S IUd 1Y)

| ]

 PYTH 1 HYTH 11 F 5fd SHTHATY

LN ]

YT 1 1Y, TR HUFH 11 31|

s

 HUFH 1 SRS, TR HYUAH 11 1

Options :

68634029173. 1
68634029174. 2
68634029175. 3
68634029176. 4

Question Number : 94 Question Id : 6863407373 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Hel: HUTZIH K] -
FYFH 1: W 3fT o T FameRom ST
HYFH I1: UIad:' 31T T T4 Fae0H S|
SUHaHUga Sl 3e: Heaidhed : TgEaga &d -

1. YT I SYFH 11 9 Sfd Hg w1y

[ S

 PYTH I, HYTH 11 9 5fd SHTHATY

L]

U [ 1, TR B I ST

s

U [ ST, TR HUAH 11 1Y

Options :

68634029173. 1
68634029174. 2
68634029175. 3
68634029176. 4

Question Number : 95 Question Id : 6863407374 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Y HUTEIH AT -

FYH I WSUAE: ACadRY HAAYNGad- A 3fd T4 wafd|
SYY 1I: 'TY YT AcapRY HOqYSYagad- aHe fd ¥4 yafd|
UGG YTGI SATCles- 3fef: Fedidehed 3: T &g -

1. BYTH I HYTH 11 9 S IUg 1Y

2. PYTH I HYFH 11 I S IUTHETY|

LN ]

YT 1 1Y, TR DU 11 31|

4. YT 1 ST, TR HYUFH 11 1Y

Options :

68634029177. 1
68634029178. 2
68634029179. 3
68634029180. 4

Question Number : 95 Question Id : 6863407374 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Hel: PUTZIH K] -
Y I: MU TeaP Ry TG da- Qe gid w0 Hafd|
FYTH I1: T YTl TCTDRY HOHYSYagda aHeE 3fd &4 Hafd|
SUHaH YA HTdlh- e Heaidbed : TgHagas (d -

1. BYTH I SYFH 11 9 S v g

| )

 PYTH I, HYTH 11 F 5fd IUTHATY

LA}

 YUFH 1 1Y, TR HYUFH I ST

4, TUTH I STY, T DU 11 WY

Options :

68634029177. 1
68634029178. 2
68634029179. 3
68634029180. 4



Question Number : 96 Question Id : 6863407375 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Hel: HUTZIH K] -
Y I: 8 T goiariaHid: vafd|
FYH 11: [0 il fgdianfaufe: vafd
STaAS YT eI e Temidd et TR Fa -

1. BYTH L HYTH 11 9 Sfd Ivg a1y

| ]

 PYTH I HYTH 11 F 5fd SHTHATY

LS ]

 HUTH 1 Y, TR DUFH 11 31|

s

 DUAH T SHH1Y, TR HUTH 11 T1¥ |
Options :

68634029181. 1

68634029182. 2

68634029183. 3
68634029184. 4

Question Number : 96 Question Id : 6863407375 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 97 Question Id : 6863407376 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634029185. 1
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Question Number : 97 Question Id : 6863407376 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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68634029186. 2
68634029187. 3
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Question Number : 98 Question Id : 6863407377 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634029191. 3
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Question Number : 98 Question Id : 6863407377 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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68634029191. 3
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Question Number : 99 Question Id : 6863407378 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 99 Question Id : 6863407378 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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68634029195. 3
68634029196. 4

Question Number : 100 Question Id : 6863407379 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634029197. 1
68634029198. 2
68634029199. 3
68634029200. 4

Question Number : 100 Question Id : 6863407379 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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